
– 2 –

Finisher-M1 Installation Procedure
Go through the instructions herein when installing the Finisher to its host.

1 Unpacking

Unpack the Finisher, and check to make sure that none of the following items is missing:

Fig. 1-1

[1]

[4]
[7]

[4]

[7]

[8]

[5] [10]

[5]

[2]

[6]

[3]

[9]

[1] Finisher ...................................................... 1 unit

[2] Mounting base .................................................. 1

[3] Latch plate .................................................. 1 pc.

[4] Fixing claw ................................................. 2 pc.

[5] Screw (M4x25; black) ................................ 4 pc.

[6] Stepped screw ............................................. 2 pc.

[7] Screw (M4x6; white) .................................. 2 pc.

[8] Screw (M4x20; black) ................................ 1 pc.

[9] Stop plate .................................................... 2 pc.

[10]Staple .......................................................... 1 pc.



– 3 –

Be sure to perform the following steps

in sequence before starting the instal-

lation work on the host side:

1. Turn off the control panel power

switch.

2. Turn off the main power switch.

3. Disconnect the power cable (for the

outlet).

Fig. 1-2

2 Securing the Mounting Plate

Do not remove the cushioning mate-

rial and the filament tape until in-

structed to do so.

1) Remove the top cushioning material [1] (2 pc.;

Styrofoam) from inside the finisher shipping box.

Fig. 2-1

[1] [1]

[A]

2) Place the removed cushioning material [1]

(Styrofoam) as shown.

Refer to the width of the shipping box when decid-

ing on the distance [A] between the blocks.

Fig. 2-2

3) Take out the Finisher [1] from the shipping box

and then of its plastic bag, and place it upside
down on the cushioning material (Styrofoam) as

shown.

Fig. 2-3

4) Take out the mounting base [1] from the shipping

box and of its bag, and place it on the Finisher as

shown.

Fig. 2-4

ON/OFF

[1] OFF [2] OFF [3] Disconnect



– 4 –

5)

Keep the removed tape. You will be us-

ing it later as part of the installation

work.

Remove the filament tape (3 pc.) used to hold the

mounting plate in place.

Fig. 2-5

6) Slide the feet [1] of the mounting plate so that seg-

ment A of the outside of the  mounting base and the

segment B of its inside match.

Fig. 2-6

REF.

When slid, the mounting will not drop

on its own weight.

7)

Tighten the screw in the order indi-

cated.

Secure the mounting base [2] using the four screws

[1] (M4x25; black).

Fig. 2-7

8) Tighten the screw [1] (M4x20; black), making sure

it is fully in its hole.

Fig. 2-8

REF.

The screw serves as the lower limit

stopper of the stack tray.

9) Slide the feet of the mounting base so that segment

A of the outside of the mounting plate and segment

B of its inside match.

Fig. 2-9



– 5 –

10) Secure the rail using the filament tape [1] previ-

ously removed.

Fig. 2-10

11) While keeping it on the cushioning material [1],

move the Finisher [3] to one side so that the Hold

label [2] is on top.

Fig. 2-11

3 Installation

1) Using the tip of a flat-blade screwdriver [2], remove

the 2 blocking stickers [1] from the left side of the

host machine.

Fig. 3-1

2) Open the delivery vertical path cover [1] of the host

machine; then, place the front and rear stop plates

[2] that come with the Finisher at 2 locations.

Fig. 3-2



– 6 –

3) With the delivery vertical path cover open, hold the

latch plate [1] and the stop plate [2]; then, secure

them with the stepped screw at the rear.

Likewise, tighten the stepped screw at the front.

Fig. 3-3

REF.

Try to start with the stepped screw at

the rear to facilitate the work.

4) Check to make sure that the stop plate [2] is in con-

tact with the grounding plate found in front of the

delivery vertical path cover.

Fig. 3-4

5) Hold the 2 locations of the Hold label [1], and hook

the keys [3] on the 2 openings [2] of the host ma-

chine.

Chek to make sure that the keys [3]

are hooked on the opening [2] of the

host maehine (to avoid a fall).

Fig. 3-5

Fig. 3-6



– 7 –

6) To facilitate the insertion of the fixing claws easier,

move the keys [1] to the front.

Fig. 3-7

7) Fit the 2 fixing claws [1] into the openings using

the screws [2] (1 each; M4x6; white).

Fig. 3-8

8) Remove the filament tape so far used to keep the

rail of the mounting base in place.

[1]

[1]

[2]

9) Remove the filament tape [1] and the cushioning

material (Styrofoam) [2] used to hold the stapler in

place.

Fig. 3-9

10) Remove the cushioning material [1] (cardboard)

from the Finisher and the filament tape [2] and the

Hold label [3].

Fig. 3-10

11) Remove the connector cover for the pedestal, and

fit the connector [1] of the machine.

Fig. 3-11


